


1 FRAME,CAGE,ROLL,ENGINE,GAS,LARGE,HPJ 1 JD7775
2 AXLE,FRAME,CAGE,ROLL,ST,PLTD,LRG,HPJ 2 JD7775-B
3 BAR,CROSS,HANDLE,STEEL,PLATED,LARGE,HPJ 1 JD7775-C
4 HANDLE,ENGINE,GAS,ST,PAINTED,LARGE,HPJ 1 JD7775-D
5 HANDLE,CONTAINER,SOLUTION,LARGE,HPJ GAS 1 JD7775-F
6 BRAKE,WHEEL,STEEL,PAINTED,LARGE,CPW 1 JD7775-H
7 COLLAR,BRAKE,WHEEL,STEEL,PLATED,HPJ 2 JD7775-I
8 PANEL,JENNY,HPJ,STEEL,PAINTED 1 JD7775-K
9 PANEL,JENNY,HPJ,STEEL,PAINTED,EXHAUST 1 JD7775-L
10 DECAL,VINYL,BLUE,HPJ,17-1/4X9,5MIL 2 JD8484
11 RIVET,AL,.160-.164HOLE,.063-.125GRP,5/32 15 JP7720-02
12 SCREW,CAP,HEX HD,ST,PL,5/16-18X3/4" 2 JD 556
13 WASHER,LOCK,SPLIT,STEEL,PLATED,5/16" 6 JD 612
14 WHEEL,PNEUMATIC,10"ODX3/4"ID,BALLBEARING 4 JP2643-F
15 COLLAR,SCREW,SET,STEEL,PLATED,3/4"ID 4 JD7777
16 WASHER,STEEL,3/4ID,SAE 4 JP2036-03
17 SCREW,CAP,HEX HD,GR5,ST,PL,1/4-20X3/4" 2 JD 551
18 WASHER,FLAT,STEEL,PLATED,1/4 4 JD 787
19 WASHER,LOCK,SPLIT,STEEL,PLATED,1/4" 2 JD 611
20 NUT,HEX,STEEL,PLATED,1/4-20 2 JD 791
21 STRAP,RETAINING,VELCRO,CONTAINER,SOLUTN 2 JD7288
22 SCREW,SLF DRL,HEX WASHER,PLTD,#10x5/8 4 JD7074-A
23 WASHER,FLAT,STEEL,PLATED,#10 4 JD1539
24 GROMMET,RUBBER,BLACK,7/16"I.D. 5 JD3385-01
25 SCREW,CAP,HEX HD,ST,PL,3/8-16X1" 4 JD 563
26 WASHER,BELLEVILLE,ST ST,1"X1 15/16X1/16T 2 JD7908
27 WASHER,LOCK,SPLIT,STEEL,PLATED,3/8" 4 JD 613
28 GROMMET,RUBBER,BLACK,5/8"I.D. 2 JD3385 
29 MUFFLER,ENGINE,KOHLER,PTO,11-15HP 1 JD7780-01

30-A ENGINE,GASOLINE,KOHLER,13HP,R.S. 1 JD7781-A
30-B ENGINE,GASOLINE,KOHLER,13HP,E.S. 1 JD7781

31-A SEE ASSY 1-1A PUMP,PLUNGER,TRIPLEX,3200PSI,4.0GPM,CAT 1 JD7808
31-B SEE ASSY 1-1B PUMP,PLUNGER,TRIPLEX,3000PSI,4.0GPM,GEN 1 JD7791

OIL,PUMP,SYNTHETIC,HIGH-PERFORMANCE,1 PT 1 JD7999-B
OIL,PUMP,SYNTHETIC,HIGH-PERFORMANCE,1 QT 1 JD7999-A

32 HOSE,WASH,PRESSURE,3000PSI,250F,3/8X50FT 1 JD7790-A
33 SOCKET,QUICK COUPLING,BRASS,3/8"NPTF 1 JD3102-A
34 GUN,TRIGGER,3000PSI,8GPM,320F 1 JD6068-B
35 SOCKET,QUICK COUPLING,STAINLESS,3/8NPTF 1 JD3102-02
36 NOZZLE,SPRAY,PSI,SS,QCK CON,0 DEG,O#4.5 1 JD7755-01
37 NOZZLE,SPRAY,PSI,SS,QCK CON,15DEG,O#4.5 1 JD7756-01
38 NOZZLE,SPRAY,PSI,SS,QCK CON,25DEG,O#4.5 1 JD7757-01
39 NOZZLE,SPRAY,PSI,SS,QCK CON,40DEG,O#4.5 1 JD7758-01
40 NOZZLE,SPRAY,SOAP,BR,QCK CON,25DEG,O#40. 1 JD7759
41 LANCE,INSULATED,STEEL,ZINC-PLATED,1/4X36 1 JP7080-O
42 DECAL,NUMBER,MODEL,HPJ3040,BLUE 2 JD7840
43 DECAL,NAMEPLATE,OIL FIRED 1 JD6251-05
44 DECAL,CLEAR,MYLAR 1 JD6251-08
45 DECAL,NOTICE,BATTERY,USE 12V 20AMP 1 JD7023
46 TRAY,BATTERY,STEEL,PAINTED,LARGE,CPW 1 JD7775-G



47 WIRE,BATTERY,ASSY,#6 GA,BLACK,30"LONG 1 JD6066
48 WIRE,BATTERY,ASSY,#6 GA,RED,30"LONG 1 JD3634-B
49 BOX,BATTERY,PLASTIC,BLACK,11X7-1/2X8-3/4 1 JD7769
50 SCREW,CAP,SOCK HEAD,SS,5/16-18X1-3/4 4 JD7907
51 PIN,LOCK,HANDLE,1/4X1.843LG,W/RING ST.PL 2 JD7775-J
52 TANK,GASOLINE,PLASTIC,RED,W/GAUGE,3GAL 1 JD7770
53 PLUG,QUICK COUPLING,BRASS,1/4"NPTM,GAS 1 JD7778-A
54 SOCKET,QUICK COUPLING,BRASS,1/4"HOSE,GAS 1 JD7778 
55 HOSE,AIR,FUEL,300PSI,212F,1/4",BLUE 3' JE 490
56 CLAMP,HOSE,NYLON,BLACK,.593/.656DIA 1 JD7859-D
57 FILTER,OIL,CH11-CH13,KOHLER#5205002 1 JD7767-04
58 TUBING,PVC,CLEAR,3/8ODX1/4ID 4 JD3087
59 CLAMP,SLEEVE,PLASTIC,3/8ID 2 JD2759
60 STRAINER,CHEMICAL,BRASS,1/4"HOSEBARB 1 JD7140-A
61 KEY,STEEL,1/4X1/4X2-1/2LENGTH 1 JP6714-03






